1TX, 2TX(AKRER) T/KEFHEB) PP¢50- 40 BEHM-HTF

% B Kk W I R OF SR BB |
[&#1]
1FE 11X
RY=F L ¢ 50 127.0 1270 | m
1FE 2T X
¢ 40 28.0 + 98.0 126.0 | m
1FE 1T RL—r
¢ 25 1.0 X 1 1.0 m
175 11K S3 2TX S6 2TK FL—r
$20 20 X 1 05 X 1 + 1.0 3.5 m
1 1T Sl S2 27X S5
¢ 13 0.5 X 4 20 X 3+ 20 2 11.0 m
1T
PPV ok $ 50 3 3 1
2T
¢ 40 3 3 1
1TX 2T X
PVY A ob $ 20 1+ 1 2 1
1TX 2T X
613 7+ 3 10 1A
1T
PP /LR ¢ 50 1 1 J[E
2T
¢ 40 1 1 1
1T
¢ 25 2 2 1
2T
$20 2 2 1
1T
PV /LR ¢ 50 1 1 {E]
1T
MCa=H> ¢ 50 1 1 1
DIPE H PPa=AV Y ryhe A v G| 2T
BRIV AR ¢ 75X ¢ 40 1 1 1
EF& H PPazA b AN v ETe] 21X
PRILA KK $ 100X ¢ 40 1 1 {[E
PPE H PPasA ok ANyRVETe 1K
BRIy KA 50X ¢ 25 1 1 1
PPazAVYlrybe AUV vV ErEe 11X
$ 50X ¢ 20 1 1 1
PPazAVYrybe AUV vV E e 2T.[X
¢ 40X ¢ 20 2 2 1
PPazAVYrybe AUV vV e 1T
$50X ¢ 13 7 7 1
PPz ke MM R B e 2T.[X
$40X ¢ 13 3 3 1
TR E T 1TX
VT — A5 ¢ 50 1 1 1
PPEAL2MEET fadi VR 2T X
HER L5 ¢ 40 1 1 1
PPRAL2MEET fadi R 1T
¢ 25 1 1 1
PPEAL2EET fadi VR 2T X
$20 1 1 1
BIERR B L 5F - 2oL 27 G e 11X
MFY 2k ¢ 50 2 2 {E]
o 2T X
PRG3RI ¢ 50 1 1 J[E
o 2T X
¢ 40 1 1 1A
PR 11X ¢ 50 FL—r 2T[X ¢ 40 rL—y
tEospE JWWA B 132 1+ 1 1+ 1 4 1
FE IS4
PR25 (K) 2+ 2 2+ 2 8 1
b
RA25(A) 1 1 1
T REE
RC25(C) 1 1 1
T ERAE
RAC25(CA) 1 1+ 1 3 &}
AR
RS25 (S) 1+ 1 1+ 1 4 1
TR AL $50 640 625 $20 013
EHRT—T 150mm 127.0 + 126.0 1.0 + 35 + 11.0 268.5 | m
1 LXK E.P 2T X7k TR
~—H—HL 8 + 1 6 + 1 16 1




1TX, 2TX(AKRER) T/KEFHEB) PP¢50- 40 BEHM-HTF

% B Kk W I R OF SR BB |
[7#]
AT F L E R T ¢ 50 127.0 1270 | m
¢ 40 126.0 126.0 | m
¢ 25 1.0 1.0 m
$20 3.5 3.5 m
¢ 13 11.0 11.0 m
vk PP /LR PV /LR
PPk T ¢ 50 6 + 2 2 10 -
Vv TR Sy AkAg Bl
¢ 40 6 + 2 2 + 2 12 n
AR Syt BhL
¢ 25 4+ 1 2 7 u]
Ze0 Sykie BhL TR
¢ 20 4 + 3 2 + 4 13 n
Vb G3KHe
¢ 13 20 + 10 30 5]
DIP%
RS KR REAR T ¢ 75X ¢ 40 1 1 T
PP
¢ 100X ¢ 40 1 1 fET
PP
¢ 50X ¢ 25 1 1 & T
PP
$ 50X ¢ 20 1 1 & T
PP
$ 40X ¢ 20 2 2 & T
PP
$50X ¢ 13 7 7 & T
PP
$40X ¢ 13 3 3 (5030
ERAE T
LB RE T ¢ 50 H=900 1 1 @
ERAE T
AT =T WARTF MES =42 b
AT F L EF T ¢ 50 2 2 n
7.5k MFZaA b
A% e ¢ 65mmLL T 2 9 0
BIHRY—RL 2685 | m
FEf Af 2T SMliR
X IR 15cm 95.0 95 m




TAKERBY (RER) L T EFH A E 1T, 2T X
+ T 247

PP$50 | PPo40 | PP$25 | PP 20 | PP 13 | PP ¢ 40 ) }
4 W Vi NI B 5 A g | Fv— [wxr—| Kk R N e AL A=

0.9 0.65 0.65 0.65 0.65 0.9

1-1 1-2 1-3 1-5 1-7 1-10
Al BT As, t=15ecmPL F 257.0 252.0 1.0 6.0 22.0 2.0 540.0 | m 540
SEERRIEELURHA T | As, t=10ecmPL T 77.1 75.6 0.3 1.8 6.6 0.6 162.0 | m? 160
B E T ek e+ 78.6 57.3 0.2 1.3 4.8 0.6 142.8 | m® 140
AR T RC-40 31.6 12.1 0.1 0.3 1.1 0.2 45.4 | m® 50
ERIERE T oy ioay R 35.1 33.6 0.1 0.8 2.8 0.3 72.7 | m® 70
FAE A E R e+ 78.6 57.3 0.2 1.3 4.8 0.6 142.8 | m® 140
H A 78.6 57.3 0.2 1.3 4.8 0.6 142.8 | m® 140
T AT 7 )V N ALER 3.08 3.02 0.01 0.07 0.26 0.02 6.46 | m® 6
HEER I NEHE: | As 3.08 3.02 0.01 0.07 0.26 0.02 6.46 | m® 6
VB ERE - L T 0.240 0.230 0.010 0.006 0.020 0.002 0.508 | m? 0.51
AT RC-40, t=16cm 77.1 75.6 0.3 1.8 6.6 0.6 162.0 | m® 162

HH

ESE] A BRI EEAS(13) t=3cm 77.1 75.6 0.3 1.8 6.6 0.6 162.0 | m® 162




TOKIEAE ORER) £ TR R

T+ T ¥ & &
+TAa47° 1-1 TEHE As PP ¢ 50 DP=0.90m
E.P [ESLES
+ TR L= 1270 +0.5 +1.0 = 1285 m
1K 2T
< L >
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T
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!
¢D
( 128.5 m Y7-0¥E)
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EEERR B As, t=15cn A F 2 X 128.5 m 257.0
SREERRTUELRGA T As, t=10emPL T 0.60 X 128.5 m?® 771
o ) T bk RYE 1 0.60 X 1.020 X 1285 m® 78.6
IR T RC-40 0.60 X 0.410 X 1285 m® 31.6
A s B T oooan D ( 0.60 X 0.460 — 0.060 2 X x4 )X 128.5 |m® 35.1
i)
FEA TR W+ 78.60 m® 78.6
T AT 7 )L N ALER 0.60 X 0.04 X 1285 m® 3.08
S S N As m’ 3.08
T VEEE - /L4y T 0.023 X 0.04 X 257.0 m®|  0.240
PEAZ T RC-40, t=16cm 0.60 X 128.5 m? 77.1
A RIEAs(13)
*Eg t=3cm 0.60 X 128.5 m? 77.1




TOKIEAE ORER) £ TR R

T+ T & &
+TAa47° 1-2 THEHE As PP ¢ 40 DP=0.65m
Bk
+ TR =  27.0+98.0 +1.0 = 126.0 m
2T
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= N , % S
T
i pRfiET
| RC-40 S
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.048
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—
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( 126.0 m M47-0¥E)
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SREERRTUELRGA T As, t=10emPL T 0.60 X 126.0 m?® 75.6
g g T bk WYE 0.60 X 0.758 X 126.0 m® 57.3
A BT RC-40 0.60 X 0.160 X 126.0 m® 12.1
A A P T Jwa R ( 060 X 0.448 — 0.048 2 X 7 ,/4)X 1260 |m® 33.6
R
FEA TR W+ 57.30 m® 57.3
T AT 7 )L N ALER 0.60 X 0.04 X 126.0 m® 3.02
S S N As m® 3.02
T VEEE - /L4y T 0.023 X 0.04 X 252.0 m®| 0.230
PEAZ T RC-40, t=16cm 0.60 X 126.0 m? 75.6
A RIEAs(13)
*Eg t=3cm 0.60 X 126.0 m? 75.6




TOKIEAE ORER) £ TR R

T+ T ¥ & &
+TAa47° 1-3 THEHE As PP ¢ 25 DP=0.65m
RL—y
+ TR = 0.5 = 0.5 m
1R
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= N , % S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
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i H2 | #HIE] 0.744
1B hl [$E5#| 0.160
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—
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( 0.5 m M7=vHE)
4 PR G2 N 7 " =Y B =
EAERR B As, t=15cmbL T 2 X 0.5 m 1.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 0.5 m2 0.3
BRI T Mg WE 1 0.60 X 0.744 X 0.5 m 0.2
IR T RC-40 0.60 X 0.160 X 0.5 m® 0.1
AR T oar i ( 060 X 0434 — 0.034 2 X 5,/4)X 0.5 m? 0.1
i)
38 EmR wWE+ 0.20 m® 0.2
T AT 7 )L N ALER 0.60 X 0.04 X 0.5 m® 0.01
S S N As m® 0.01
T VEEE - /L4y T 0.023 X 0.04 X 1.0 m® 0.01
BAE T RC-40, t=16cm 060 X 0.5 m® 0.3
A RIEAs(13)
*g t=3cm 0.60 X 0.5 m® 0.3




KA ORER) = TR E
T+ T ¥ & &
+TAa47° 1-5 THEHE As PP ¢ 20 DP=0.65m
S3 S6 KL —y
+ TR L= 20 +0.5 +0.5 = 3.0 m
1R 2IR
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= N , % S
T
i Eﬁﬁl A
| RC-40 E
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#miEgE] 0.777
i H2 | #Al&] 0.737
1B hl [$E5#| 0.160
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!
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( 3.0 m HhHE)
4 PR G2 N 7 " =Y B =
EAERR B As, t=15cmbL T 2 X 3.0 m 6.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 3.0 m2 1.8
BRI T Mg WE 1 0.60 X 0.737 X 3.0 m 1.3
IR T RC-40 0.60 X 0.160 X 3.0 m® 0.3
AR T oar i (060 X 0.427 — 0.027 2 X x,/4)X 3.0 m? 0.8
i)
38 EmR wWE+ 1.30 m® 1.3
T AT 7 )L N ALER 0.60 X 0.04 X 3.0 m® 0.07
S S N As m® 0.07
T VEEE - /L4y T 0.023 X 0.04 X 6.0 m®|  0.006
BAE T RC-40, t=16cm 0.60 X 3.0 m® 1.8
A RIEAs(13)
*g t=3cm 0.60 X 3.0 m® 1.8




TOKIEAE ORER) £ TR R

T+ T ¥ & &
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T
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i H2 | #AlE] 0.732
1B hl [$E5#| 0.160
iz—F v h | # & 0422
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| o
~N B| —
l | =
—
! 8
! v v
¢D
( 11.0 m %720 E)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2 X 110 m 292.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 11.0 m2 6.6
BRI T Mg WE 1 0.60 X 0.732 X 11.0 m 4.8
IR T RC-40 0.60 X 0.160 X 11.0 m® 1.1
A s B T oooan D ( 0.60 X 0.422 — 0.022 2 X gx,/4)x 11.0 m® 2.8
i)
38 EmR wWE+ 4.80 m® 4.8
T AT 7 )L N ALER 0.60 X 0.04 X 11.0 m® 0.26
S S N As m’ 0.26
T VEEE - /L4y T 0.023 X 0.04 X 22.0 m®|  0.020
BT RC-40, t=16cm 0.60 X 11.0 m® 6.6
A RIEAs(13)
)= t=3cm 0.60 X 11.0 m® 6.6




TOKIEAE ORER) £ TR R

T+ T ¥ & &
+TAa47° 1-10 THEHE As PP ¢ 40 DP=0.90m
+ TR = 1.0 = 1.0 m
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T
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!
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—
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!
¢D
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4 PR G2 N 7 " =Y B =
EAERR B As, t=15cmbL T 2 X 1.0 m 2.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 1.0 m2 0.6
BRI T Mg WE 1 0.60 X 1.008 X 1.0 m 0.6
IR T RC-40 0.60 X 0.410 X 1.0 m® 0.2
AR T oar i ( 0.60 X 0.448 — 0.048 2 X gx,/4)X 1.0 m? 0.3
i)
38 EmR wWE+ 0.60 m® 0.6
T AT 7 )L N ALER 0.60 X 0.04 X 1.0 m® 0.02
S S N As m® 0.02
T VEEE - /L4y T 0.023 X 0.04 X 2.0 m®|  0.002
BAE T RC-40, t=16cm 060 X 1.0 m® 0.6
A RIEAs(13)
*g t=3cm 0.60 X 1.0 m® 0.6




1T, 2TX({RE)

T/KEFHBI PP@50- 940 BEH-FH75

W B R O 55

E ) Hiks R | M
[&41]
1FE 1TLIX
R)oF LA ¢ 50 100.0 100.0 | m
1 2TIX
¢ 40 0.5 + 195 20.0 m
158 11X S3 217X S6°
$ 20 25 X 1 + 05 X 1 3.0 m
1l 11X S1 s2’ s2’ 2T% S5’
¢ 13 05 X 4 + 05 X 1 + 25 X 2 + 25 X 1 10.0 m
1T
PPV /v b ¢ 50 2 2 fi&
1 LK 2T X
PVYroh ¢ 20 1+ 1 2 fiE
1 LXK 2TX
¢ 13 7+ 1 8 fi#
1T
PP /LR ¢ 50 2 2 1#
2T
$ 40 2 2 &
2T S5’
$ 20 1 1 &
11X S
613 4 4 &
PP H PPA= b N T 1TIX
YRS $ 50X ¢ 20 1 1 &
PPz rybe AN vX e 2TX
40X ¢ 20 1 1 fi&
PPazA Yy b AN R E T 1K
$50X ¢ 13 7 7 &
PPz ryhe AN R G 2T X
$40X ¢ 13 1 1 fi#
PPERLETe 1L
=k LT 50 1 1 &
1TX
PR ¢ 50 19.0 + 720 91.0 m
2T K
¢ 40 19.5 19.5 m
[957%]
RY=F LR T $ 50 100.0 100.0 | m
$ 40 20.0 20.0 m
$ 20 3.0 3.0 m
¢ 13 10.0 10.0 m
Viroh B % Bl
PPt T ¢ 50 4+ 4 o+ 1 9 u]
LR
¢ 40 2 2 m]
Yk TR Sykie
$ 20 4+ 2 o+ 2 8 8]
vk TR Sk
¢ 13 6 + 8 + 8 32 5]
PP H
PRI RSAT T 50X ¢ 20 1 1 T
PP
$ 40X ¢ 20 1 1 AT
PP H
$50X ¢ 13 7 7 & AT
PP H
$40X ¢ 13 1 1 AT
RV F LB ET ¢ 50 100.0 100.0 | m
¢ 40 20.0 20.0 m
$20 3.0 3.0 m
¢ 13 10.0 10.0 m
RY=F LAY T ¢ 50 100.0/6 - 1 16 5]
¢ 40 20.0/6 - 1 3 5]

10



1 IR, 2TX({RER) T/KEFHEB) PPp50- p40 EHM 5775

5 T 1t R B B O A B |
50 ¢ 40 620 613
i 100.0 X 1.216 + 20.0 X 0.788 + 3.0 X 0.269 + 10.0 x 0.184 & 140.0 kg
Vb VR H—h
HPARr 7T ¢ 50 2 X 2910 + 2 X 3170 + 1 X 1.730 13.9 kg
LR
¢ 40 2 X 2.155 4.3 kg
Vi LR
¢ 20 2 X 0.545 + 1 X 0.490 1.6 kg
Vi TR
¢ 13 8 X 0.375 + 4 X 0.340 4.4 kg
it 24.2 kg
AT TS 43k $50% ¢ 20 437k 640X ¢ 20 43K 650X ¢ 13 43K 640X ¢ 13
1 X 2.00 + 1 X 1.80 + 7 X 1.70 + 1 X 1.40 &k 17.1 kg
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TAGEMB) (IG%) £ T R E 1T, 2T
+ T x4
PP ¢ 50 PP ¢ 40 PP ¢ 20 PP ¢ 13
£ giiN 71720 /N KE FaK Fa7K Fa7K ARtE [BAL B
0.3 0.65 0.3 0.3
fego-1 | Wike-1 | k12 | Mik1-2 | (Ra%o-3 | Wdeo-3 | fake—4 | 24
EiES el As, t=15cmLL T 18.0 1.0 6.0 20.0 45.0 | m 45
SEERREUELRGA L | As, t=10emPLF 5.4 5.4 0.3 0.3 1.8 1.8 6.0 6.0 27.0 | m® 27
BRI T Bk g+ 1.7 1.8 0.2 0.2 0.5 0.5 1.7 1.7 83| m’ 8
IR T RC-40 0.9 0.9 0.2 0.2 0.3 0.2 0.8 0.8 43| m® 4
FAEERE | E L 1.7 1.8 0.2 0.2 0.5 0.5 1.7 1.7 8.3 | m? 8
A 1.7 1.8 0.2 0.2 0.5 0.5 1.7 1.7 8.3 | m® 8
T A7 7V NLALE 0.22 0.16 0.01 0.01 0.07 0.05 0.24 0.18 0.94 | m* 0.9
BT AR | As 0.22 0.16 0.01 0.01 0.07 0.05 0.24 0.18 0.94 | m* 0.9
TEYETEE - L5y T 0.017 0.001 0.006 0.018 0.042 | m?® 0.04
WA T RC-40, t=15cm 5.4 0.3 1.8 6.0 13.5 | m® 14
AT RC-40, t=16cm 5.4 0.3 1.8 6.0 13.5 | m® 14
HH
*KE Rk FEAS(13) t=3cm 5.4 5.4 0.3 0.3 1.8 1.8 6.0 6.0 27.0 | m? 27

12




TOKIEAE (RE%) + TR R

T+ T ¥ & &
T A7 | ER2-1 THEHE As PP ¢ 50 DP=0.30m
+ TR = 9.0 = 9.0 m
IR
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % 3
T
| T
| RC-40 5
! A
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( 9.0 m Y/-vEKE)
4 R G2 N B =Y BN &
SHAERR G As, t=15cm2A T 2 9.0 m 18.0
SEERNBUELDA T[  As, t=10cmbh F 0.60 9.0 m? 5.4
BRI T bk mYE L 0.60 0.320 X 9.0 m® 1.7
A BT RC-40 ( 0.60 0.180 — 0.060 2 X 7,/4)X 9.0 m® 0.9
TR
A ERE WE+ 1.70 m® 1.7
T AT 7 )L NLALER 0.60 0.04 X 9.0 m® 0.22
i SN As m’ 0.22
V5 VR - L5 T 0.023 0.04 X 18.0 m®| 0.017
AR T RC-40, t=15cm 0.60 9.0 m? 5.4
A RIFEAs(13)
# )= t=3cm 0.60 9.0 m® 5.4
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TOKIEAE (RE%) + TR R

T+ T ¥ & &
+TH47° | FFE2-1 TIEEE As PP ¢ 50 DP=0.30m
+ TR = 9.0 = 9.0 m
1R
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= £ ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #iE] 0.360
i H2 | A& ] 0.330
| h2 | M| 0.170
! h W @&
|
! _
=
( 9.0 m H/WHE)
4 PR G2 N 7 " =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 9.0 m> 5.4
BRI T Mg WE 1 ( 0,60 X 0.330 — 0.060 2 X x,/4)X 9.0 m? 1.8
IR T RC-40 0.60 X 0.170 X 9.0 m® 0.9
TR
FA TR WE+ 1.80 m® 1.8
T AT 7 )L ML 0.60 X 0.03 X 9.0 m® 0.16
MR AR e As m’ 0.16
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 9.0 m> 5.4
A RIFEAs(13)
*g t=3cm 0.60 X 9.0 m® 5.4
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TOKIEAE (RE%) + TR R

T+ T ¥ & &
T a7 | ER1-2 THEHE As PP ¢ 40 DP=0.65m
+ TR = 0.5 = 0.5 m
2T
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % 3
T
| pemET
| RC-40 3
! A
i 'Y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.048
= =| ° WHIES ERM o~ DP_| v | 0.650
| RC-40 < H | #iE] 0.698
i Hl | #HIE]  0.658
| h2 | M| 0.518
! h W @&
|
i
=
( 0.5 m Y/-vEKE)
4 R G2 N B =Y BN &
EAERR B As, t=15cmbL T 2 0.5 m 1.0
SEERNBUELDA T[  As, t=10cmbh F 0.60 0.5 m? 0.3
BRI T bk mYE L 0.60 0.658 X 0.5 m® 0.2
A AR B T RC-40 ( 0.60 0.518 — 0.048 2 X x,/4)X 0.5 m® 0.2
TR
FA TR WE+ 0.20 m® 0.2
T AT 7 )L NLALER 0.60 0.04 X 0.5 m® 0.01
i SN As m’ 0.01
TG VEEE - /L4y T 0.023 0.04 X 1.0 m®|  0.001
AR T RC-40, t=15cm 0.60 0.5 m? 0.3
A RIFEAs(13)
*g t=3cm 0.60 0.5 m® 0.3
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TOKIEAE (RE%) + TR R

T+ T ¥ & &
+TH47° | fE1-2 TIEEE As PP ¢ 40 DP=0.65m
+ TR = 0.5 = 0.5 m
2T R
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
|
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.048
= £ ° WHIES ERM o~ DP_| v | 0.650
| RC-40 < H | #iE] 0.698
i H2 | #AIE]  0.668
| h2 | M| 0.508
! h W @&
|
! _
=
( 0.5 m M7=vHE)
4 PR G2 N 7 " =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 0.5 m> 0.3
BRI T Mg WE 1 ( 060 X 0.668 — 0.048 2 X g5,/4)X 0.5 m? 0.2
IR T RC-40 0.60 X 0.508 X 0.5 m® 0.2
TR
FA TR WE+ 0.20 m® 0.2
T AT 7 )L ML 0.60 X 0.03 X 0.5 m® 0.01
MR AR e As m’ 0.01
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 0.5 m> 0.3
A RIFEAs(13)
*g t=3cm 060 X 0.5 m® 0.3
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TOKIEAE (RE%) + TR R

T+ T ¥ & &
+TAA7° | ER2-3 THEHE As PP ¢ 20 DP=0.30m
S3’ S6’
+ TR = 25 +0.5 = 3.0 m
1R 2IR
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
T
| pemET !
| RC-40 5
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.327
i Hl | #Al&] 0.287
| h2 | M| 0.147
! h W @&
|
i
=
( 3.0 m Y/-0EE)
4 R G2 N B =Y B =
EAERR B As, t=15cmbL T 2 X 3.0 m 6.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 3.0 m> 1.8
BRI T Mg WE 1 0.60 X 0.287 X 3.0 m 0.5
IR T RC-40 0.60 X 0.147 — 0.027 2 X gx,/4)X 3.0 m® 0.3
TR
FA TR WE+ 0.50 m® 0.5
T AT 7 )L ML 0.60 X 0.04 X 3.0 m® 0.07
MR AR e As m’ 0.07
TG VEEE - /L4y T 0.023 X 0.04 X 6.0 m®|  0.006
AR T RC-40, t=15cm 0.60 X 3.0 m> 1.8
A RIFEAs(13)
*g t=3cm 0.60 X 3.0 m® 1.8
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TOKIEAE (RE%) + TR R

T+ T ¥ & &
+TH47° | frE2-3 TIEEE As PP ¢ 20 DP=0.30m
S37S6’
+ TR = 3.0 = 3.0 m
1R 2IR
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 E
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= £ ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.327
i H2 | #AIE] 0.297
! h2  [$EFEH| 0.137
! h W @&
|
! _
=
( 3.0 m HhHE)
4 R G2 N 7 " =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 3.0 m> 1.8
BRI T Mg WE 1 ( 0.60 X 0.297 — 0.027 2 X x,/4)X 3.0 m? 0.5
IR T RC-40 0.60 X 0.137 X 3.0 m® 0.2
TR
FA TR WE+ 0.50 m® 0.5
T AT 7 )V NSE 0.60 X 0.03 X 3.0 m® 0.05
MR AR e As m’ 0.05
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 3.0 m> 1.8
A RIFEAs(13)
*g t=3cm 0.60 X 3.0 m® 1.8
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TOKIEAE (RE%) + TR R

T+ T ¥ & &
+TAA7° | %24 THEHE As PP ¢ 13 DP=0.30m
S S2 S5’
+ TR L= 20 +55 +25 = 10.0 m
1K 2T
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % 3
T
| pemET !
| RC-40 2
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.322
i Hl | #EAI&] 0.282
| h2 | MR 0.142
i h | W&
|
! _
=
( 10.0 m Y7zoEE)
4 R G2 N B =Y B =
SHAERR G As, t=15emPA F 2 X 10.0 m 20.0
SRERBUE LA T As, t=10emPLF 0.60 X 10.0 m? 6.0
BRI T Mg WE 1 0.60 X 0.282 X 10.0 m 1.7
IR T RC-40 0.60 X 0.142 — 0.022 2 X gx,/4)X 10.0 m? 0.8
TR
FA TR WE+ 1.70 m® 1.7
T AT 7 )L ML 0.60 X 0.04 X 10.0 m® 0.24
i SN As m’ 0.24
TG VEEE - /L4y T 0.023 X 0.04 X 20.0 m®| 0.018
AR T RC-40, t=15cm 0.60 X 10.0 m? 6.0
A RIFEAs(13)
# )= t=3cm 0.60 X 10.0 m? 6.0
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TOKIEAE (RE%) + TR R

T+ T ¥ & &
+TH47° | fE2-4 TIEEE As PP ¢ 13 DP=0.30m
S1°,52°,S5°
+ TIEE = 10.0 = 10.0 m
1R 2IR
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= £ ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.322
i H2 | #AIE] 0.292
! h2 |5 0.132
! h W @&
|
i
=
( 10,0 m Y7hEsE)
4 R G2 N B =Y B =
EEERR B As, t=15cmPA T
SRERBUE LA T As, t=10emPLF 0.60 X 10.0 m? 6.0
BRI T Mg WE 1 ( 0.60 X 0.292 — 0.022 2 X g5,/4)X 10.0 m? 1.7
BHIRE T RC-40 0.60 X 0.132 X 10.0 m? 0.8
TR
FA TR WE+ 1.70 m® 1.7
T AT 7 )V NSE 0.60 X 0.03 X 10.0 m® 0.18
i SN As m’ 0.18
TGS - /L5 T
AR T RC-40, t=16cm 0.60 X 10.0 m? 6.0
A RIFEAs(13)
# )= t=3cm 0.60 X 10.0 m® 6.0
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1TRX, 2T, 3TR(AKER) T/KEHEME PP@50- p40- 25 E#-FH57%

e B K O 5

4 B Hirg BB
[&41]
1Ff 1TIX
R)zFL & $ 50 15.0 15.0 m
1 2T X
$ 40 8.0 8.0 m
1Ff 3T
$25 40.0 40.0 m
17E 11K S4 21X S7
$ 20 1.0 X 1 + 20 X 1 13.0 m
17& 1T S4 3TIX S9 S10
¢ 13 1.0 X 1 + 05 X 2 + 20 X 1 4.0 m
11K
PPV 4k $50 1 L A
3TIK
PPRAES v 25X ¢ 13 1 1 1
1TX 2T X
PVY/roh $ 20 1+ 1 2 i
1TX 3T
¢ 13 1+ 3 4 1
3TK
PP /LR ¢ 13 1 1 1l
3TK
PPRETF —X 25X ¢ 13 2 2 1
1T
$20X ¢ 13 1 1 1
11K
MCz=> $ 50 1 1 1
a4 3L
FRASKEEE YT ¢ 25 1 1 1
PP PPzt Y hrybs AN yR & T 1T
HRAS AR $ 50X ¢ 20 1 1 1
PPazAvYryhe My Ete 2TX
40X ¢ 20 1 1 1
VPE H PPa=Av Yok M yR G| 3TIX
HRAA AR $50X ¢ 25 1 1 1
TIVEAME T 1T
V7 — AR $ 50 1 1 1
PPBRL2MET fadi RV 3T
HER g7 ¢ 25 1 1 1
PPEBRAL2MEET fadA VR S4
$25 1 1 1
BEBLES 1A - AT L AT & e 11K
MF¥ af /b $ 50 2 2 1@
ﬁ;’*&% 1T ¢50 3TK ¢25 1T $46 20
o E JWWA B 132 I+ 1 o+ 1 3 (&)
ELEEISZ
PR25 (K) 2+ 2 + 2 6 1
- EREE
RA25(A) 1 1 &
NHRE
RC25(C) 1 1 (]
R
RAC25(CA) I+ 1 2 1
JEERR
RS25(S) I+ 1+ 1 3 1
TR AL ¢50 640 625 620 613
ERT— 150mm 150 + 80 + 40.0 + 13.0 + 4.0 80.0 | m
1T 9k BEF—X 2TK 4k 3LKGK HEssrok
~—J—FL 1 + 1 + 1 + 3+ 1 7 L&
[97%]
RYTF LR T $ 50 15.0 15.0 m
$ 40 8.0 8.0 m
¢ 25 40.0 40.0 m
$ 20 13.0 13.0 m
¢ 13 4.0 4.0 m
Vi
PPiF L. 50 2 2 .
7 F—% 537k AL
$ 25 1 + 4+ 1 + 2 8 I
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1TRX, 2T, 3TR(AKER) T/KEHEME PP@50- p40- 25 E#-FH57%

4 B Hirg WREOHEX BB
0 F—= SykEE Bl
PPt T $ 20 4 + 2+ 2 + 2 10 8]
Vi F—x LR
¢ 13 9 + 3 + 2 14 0
PP
YRS AR A A T ¢ 50X ¢ 20 1 1 T
PP
640X ¢ 20 1 1 iR
VPE T
$ 50X ¢ 25 1 1 T
EmArE e
{LE)FpaR E T ¢ 50 H=900 1 1 P
EmArETe
¢ 4024 F H=650 2 9 T
AN = VT VSN
AV FL BT L ¢ 50 2 9 o
7.5k MFUaAo b
T VHHEFEL ¢ 65mmLL T 2 ) .
FHRY—MT 80.0 m
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TKEHM ORE) TR R

(1ITX,2TK,3ILK)

+ T 547

ITX [ 20X [ 3TX [ 3T [12EXK [ 1K [ 3TKX [ ILKX
fooB | BRI s o prs s T Ppess | Ph20 | PPor0 [ Re 13 | PP old R i

A ARG AR A fa K fa 7K fa K fa K

1-1 1-2 1-3 1-4 1-5 1-6 1-8 1-9
SRR D)k As, t=15emLL F 31.0 16.0 1.0 5.0 53.0 [ m 53
HERRIRUELBOA T As, Co, t=10emPL 9.3 4.8 0.3 23.7 1.5 1.8 41.4 | m? 41
il 22 R B T Co, t=15emPL T 79.0 6.0 85.0 | m 85
B A T bR R+ 9.5 3.6 0.2 1.1 14.4 | m® 10
B R A T ek g+ 16.2 4.9 1.2 0.5 22.8 | m® 20
BRRME T RC-40 3.8 0.8 0.1 0.2 49| m’ 5
BHMRET RC-40 3.6 2.2 0.3 0.2 6.3 | m® 6
BHME T ryiar i 4.2 2.1 0.1 0.6 7.0 | m® 7
BHERET ryiar i 10.2 2.7 0.8 0.3 14.0 | m® 10
e R | BE 9.5 3.6 0.2 1.1 144 | m’ 10
FEAERE | WE 16.2 4.9 1.2 0.5 22.8 | m’ 20
Easi) 9.5 3.6 0.2 16.2 1.1 4.9 1.2 0.5 37.2 | m® 40
7 A7 7V N 0.37 0.19 0.01 0.06 0.63 | m® 0.6
BRI AL | As 0.37 0.19 0.01 0.06 0.63 | m® 0.6
a7 — ML 2.37 0.18 2.55 [ m® 3
dRpEEm AR | Co 2.37 0.18 2.55 [ m® 3
15 Y5 - ALy T 0.030 0.020 0.010 0.190 0.010 0.020 0.28 | m® 0.3
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TAGERM (AR L THERRE (1T, 2K, 3LK)

+ T x A7
1TIX 2TIX 3T.IX 3TX [12TR ][ 1T 3TX 1 TX
4, - %% < As 0.9 | As0.65 | As0.65 | C00.65 | As0.65 | G0.65 | Co00.65 | G0.65 AR | s e
AE AE AE AE Fa7K Fa7K FaK FhK
1-1 1-2 1-3 1-4 1-5 1-6 1-8 1-9
AT RC-40, t=16cm 9.3 4.8 0.3 1.5 15.9 | m® 16
AT RC-40, t=17cm 23.7 1.8 25.5 | m® 26
B ‘
9] FAEERIEAS(13) t=3cm 9.3 4.8 0.3 23.7 1.5 1.8 41.4 | m® 41
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KB ORRY) - TR R #

T+ T ¥ & &
+TAa47° 1-1 TEHE As PP ¢ 50 DP=0.90m
+ TR L= 15.0 +0.5 = 15.5 m
1R
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= £ e HARIEE BREM — pP_ | +#9 [ 0.900
g RC-40 < H1 [ #m#izE]  1.060
i H2 | A& ]  1.020
1B hl [$E5H| 0.410
iz—F v h | # & 0.460
[ ok
| (=]
~N B| —
l | =
—
o
i Sy 4
!
¢D
( 15.5 m YH7z0E)
4 R G2 N i B =V B =
SHAERR G As, t=15ecmPA T 2 X 15.5 m 31.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 15.5 m2 9.3
BRI T M W 1 0.60 X 1.020 X 15.5 m 9.5
IR T RC-40 0.60 X 0.410 X 15.5 m® 3.8
A s B T oooan D ( 0.60 X 0.460 — 0.060 2 X x4 )X 155 m® 4.2
i)
38 EmR wWE+ 9.50 m® 9.5
T AT 7 )L N ALER 0.60 X 0.04 X 155 m® 0.37
S S N As m’ 0.37
T VEEE - /L4y T 0.023 X 0.04 X 31.0 m® 0.03
BT RC-40, t=16cm 0.60 X 15.5 m? 9.3
A RIEAs(13)
)= t=3cm 0.60 X 15.5 m? 9.3
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KB ORRY) - TR A #

T+ T ¥ & &
+TAa47° 1-2 THEHE As PP ¢ 40 DP=0.65m
+ TR = 8.0 = 8.0 m
2T R
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.048
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#miizE] 0.798
i H2 | A& ]  0.758
1B hl [$E5#| 0.160
iz—F v h | # & 0448
[ ok
i S
~N B| —
l | =
—
o
i Sy 4
!
¢D
( 8.0 m M/hHE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emZL T 2 X 8.0 m 16.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 8.0 m2 4.8
BRI T Mg WE 1 0.60 X 0.758 X 8.0 m 3.6
IR T RC-40 0.60 X 0.160 X 8.0 m® 0.8
AR T oar i ( 060 X 0.448 — 0.048 2 X gx,/4)X 8.0 m? 2.1
i)
38 EmR wWE+ 3.60 m® 3.6
T AT 7 )L N ALER 0.60 X 0.04 X 8.0 m® 0.19
S S N As m’ 0.19
T VEEE - /L4y T 0.023 X 0.04 X 16.0 m® 0.02
BAE T RC-40, t=16cm 0.60 X 8.0 m® 4.8
A RIEAs(13)
*g t=3cm 0.60 X 8.0 m® 4.8

26




KB ORRY) - TR A #

T+ T ¥ & &
+TAa47° 1-3 THEHE As PP ¢ 25 DP=0.65m
+ TR = 0.5 = 0.5 m
3TR
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= N , % S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 | #mige[ 0.784
i H2 | #HIE] 0.744
1B hl [$E5#| 0.160
iz—F v h | # & 0434
! ou
i S
~N B| —
l | =
—
! 8
! v v
¢D
( 0.5 m M7=vHE)
4 PR G2 N 7 " =Y B =
EAERR B As, t=15cmbL T 2 X 0.5 m 1.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 0.5 m2 0.3
BRI T Mg WE 1 0.60 X 0.744 X 0.5 m 0.2
IR T RC-40 0.60 X 0.160 X 0.5 m® 0.1
AR T oar i ( 060 X 0434 — 0.034 2 X 5,/4)X 0.5 m? 0.1
i)
38 EmR wWE+ 0.20 m® 0.2
T AT 7 )L N ALER 0.60 X 0.04 X 0.5 m® 0.01
S S N As m® 0.01
T VEEE - /L4y T 0.023 X 0.04 X 1.0 m® 0.01
BAE T RC-40, t=16cm 060 X 0.5 m® 0.3
A RIEAs(13)
*g t=3cm 0.60 X 0.5 m® 0.3
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KB ORRY) - TR A #

T+ T ¥ & &
+TAa47° 1-4 HBENHIE Co PP ¢ 25 DP=0.65m
+ TR = 39.5 = 39.5 m
3TR
< L >
BEE%Co t=10cm EEl | BR RIEIH BEZHiAs t=3cm
o
=] N . V/ S
T
i pRfiET
| RC-40 R
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.034
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 | #mige[ 0.784
i H2 | #HIE] 0.684
1B hl [$E5#| 0.150
iz—F h | # & 0434
! ou
i S
~N B —4
l | =
—
! 8
! v
¢D
( 39.5 m Y/WEE)
4 PR G2 N 7 " =Y B =
SHAERR G Co, t=15cmLLF 2 X 39.5 m 79.0
SREERRTUELESA T  Co, t=10cmLA 0.60 X 39.5 m?® 23.7
B mE T etk W+ 0.60 X 0.684 X 39.5 m® 16.2
IR T RC-40 0.60 X 0.150 X 39.5 m® 3.6
A s B T oooan D ( 0.60 X 0.434 — 0.034 2 X g5,/4)X 395 m® 10.2
i)
FEA TR W+ 16.20 m® 16.2
Z ) — R ALBR 0.60 X 0.10 X 39.5 m® 2.37
S S N Co m’ 2.37
T VEEE - /L4y T 0.023 X 0.10 X 79.0 m® 0.19
BT RC-40, t=16cm 0.60 X 39.5 m? 23.7
A RIEAs(13)
)= t=3cm 0.60 X 39.5 m? 23.7
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KB ORRY) - TR A #

T+ T ¥ & &
+TAa47° 1-5 THEHE As PP ¢ 20 DP=0.65m
S4 S7
+ TR = 0.5 +2.0 = 2.5 m
1R 2IR
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= N , % S
T
i Eﬁﬁl A
| RC-40 E
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#miEgE] 0.777
i H2 | #Al&] 0.737
1B hl [$E5#| 0.160
iz—F v h | # & 0427
f ok
i S
~N B| —
l | =
—
! 8
! v v
¢D
( 2.5 m M7hHE)
4 PR G2 N 7 " =Y B =
EAERR B As, t=15cmbL T 2 X 25 m 5.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 2.5 m2 1.5
BRI T Mg WE 1 0.60 X 0.737 X 2.5 m 1.1
IR T RC-40 0.60 X 0.160 X 2.5 m® 0.2
AR T oar i (060 X 0427 — 0.027 2 X g,/4)X 25 m? 0.6
i)
38 EmR wWE+ 1.10 m® 1.1
T AT 7 )L N ALER 0.60 X 0.04 X 25 m® 0.06
S S N As m® 0.06
T VEEE - /L4y T 0.023 X 0.04 X 5.0 m® 0.01
BAE T RC-40, t=16cm 060 X 25 m® 1.5
A RIEAs(13)
*g t=3cm 060 X 25 m® 1.5
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KB ORRY) - TR A #

T+ T & &
+THh47° 1-6 HBENEE G PP ¢ 20 DP=0.65m
S4
+TIER L= 105 = 10.5 m
1R
W

fEEl | R

W | #EHIME]  0.600
a I D1 | &4ME| 0.027
= = WHIES ERM - pp_| 4| 0.650
| RC-40 < H1 [#miEgE] 0.777
i H2 | #Al&] 0.777
1B hl |54 0.350
iz—k \ h | # & 0427
[ ok
! 8y
i 6’}\ A
i al <
—
! S
! A4 v
¢D
( 10.5 m ¥70¥E)
4 R G2 N #t B =Y BN &
BRI T ek B+ 0.60 X 0.777 X 10.5 m’ 4.9
EHHERT RC-40 0.60 X 0.350 X 10.5 m 2.9
=d S oar A ( 0.60 X 0427 — 0.027 2 X x,/4)X 105 m’ 2.7
$in) A
A E R wWE+ 4.90 m® 4.9
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TAKEEM KRR T HEHESE
T+ T ¥ & &
+TAa47° 1-8 HBENHIE Co PP 13 DP=0.65m
S8 S9
+ TR = 1.0 +2.0 = 3.0 m
3T
< L >
BEE%Co t=10cm EEl | BR RIEIH BEZHiAs t=3cm
o
=] N . V/ S
T
i Eﬁﬁl A
| RC-40 R
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.022
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#mEigE] 0.772
i H2 | #AIE] 0.672
1B hl [$E5#| 0.150
iz—F v h | # & 0422
[ ok
i S
~N B| —
l | =
—t
i Sy 4
!
¢D
( 3.0 m Y/-0EE)
4 PR G2 N 7 " =Y B =
EAERR B Co, t=15emLL T 2 X 3.0 m 6.0
SRLEREUE LA T|  Co, t=10cmLL T 0.60 X 3.0 m2 1.8
BRI T Mg WE 1 0.60 X 0.672 X 3.0 m 1.2
IR T RC-40 0.60 X 0.150 X 3.0 m® 0.3
A A P T oooan D ( 0.60 X 0.422 — 0.022 2 X g,/4)X 3.0 m® 0.8
i)
38 EmR wWE+ 1.20 m® 1.2
Z ) — R ALBR 0.60 X 0.10 X 3.0 m® 0.18
S S N Co m® 0.18
T VEEE - /L4y T 0.023 X 0.10 X 6.0 m® 0.02
BT RC-40, t=16cm 0.60 X 3.0 m® 1.8
A RIEAs(13)
*Eg t=3cm 0.60 X 3.0 m? 1.8
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KB ORRY) - TR A #

T+ T ¥ & &
+TAa47° 1-6 EESNEE G PP ¢ 13 DP=0.65m
S4
+ TR L= 1.0 = 1.0 m
1R
< L >
fEEl | BR
i
i
i
i
i
;
|
} W [#miilE[ 0.600
a [ D1 [#&4M%| 0.022
= = WHIES ERM - pp_| 4| 0.650
| RC-40 < H1 [#mEigE] 0.772
i H2 | #AlE] 0.772
1B hl |54 0.350
iz—k \ h | # & 0422
! ou
i S
~N B| —
l | =
—t
i Sy 4
!
¢D
( 1.0 m Y7=0¥kE)
4 R G2 N #t B =Y BN &
BRI T ek B+ 0.60 X 0.772 X 1.0 m’ 0.5
ERHEET RC-40 0.60 X 0.350 X 1.0 m? 0.2
=d S oar A ( 0.60 X 0422 — 0.022 2 X z,/4)X 1.0 m’ 0.3
$mi)
A E R wWE+ 0.50 m® 0.5
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1T, 2TX({RER) T/KEEME PPH50- 940 B 575

b Wit M B R OB A B
[&#4]
1FE 1T
Ry=F L% $ 50 0.8 + 16.2 17.0 m
1F& 2T.%
$ 40 8.0 8.0 m
15E 1T S4° 2T ST’
$ 20 95 X 1+ 25 X 1 12.0 m
1FE 11K S4°
¢ 13 05 X 1 0.5 m
1LX 2T X
PV 4ok 020 I 2 MR
1T
$13 1 1 &
1LX
PP LR ¢ 50 2 2 i1
1LX
PPREAETFT —X $ 20X ¢ 13 1 1 J[Ei
PP PPa=Ay Yok MMN v¥ Y s 1T
B R4y KA ¢ 50X ¢ 20 1 1 B[E]
PP=AV Y rybe ANy G T 2T X
¢ 40X ¢ 20 1 1 &
1LX
PRIRT $ 50 16.2 16.2 m
2T X
$ 40 8.0 8.0 m
1LX
$ 20 9.5 9.5 m
1T
¢ 13 0.5 0.5 m
[95%]
R F LA T $ 50 17.0 17.0 m
$ 40 8.0 8.0 m
$ 20 12.0 12.0 m
613 0.5 0.5 m
TR
PPifkTT. ¢ 50 4 4 H
ik F—= Sy kAR
$ 20 4 + 2 o+ 2 8 5]
Yo F—x
613 2 + 1 3 5]
PP
PR AR R AL T ¢ 50X ¢ 20 1 1 T
PP
40X ¢ 20 1 1 T
AT F LT $ 50 17.0 17.0 m
$ 40 8.0 8.0 m
$ 20 12.0 12.0 m
¢ 13 0.5 0.5 m
AT F LG G T $ 50 17.0/6 - 1 2 5]
$ 40 8.0/6 - 1 1 5]
¢ 50 $40 $20 ¢ 13
BES T 170 X 1.216 + 80 X 0.788 + 12.0 X 0.269 + 05 X 0.184 i 30.3 kg
LR
A rZ97 ¢ 50 2 X 3.170 6.3 kg
Viryh F—x
$ 20 2 X 0545 + 1 X 0.710 1.8 kg
Yo
613 1 X 0.375 0.4 kg
&8t 8.5 kg
SRR Z> T 537k $50% §20 4K $40X ¢ 20
1 X 2.00 1 X 1.80 3.8 kg
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KB A (E%) £ TR E 1T, 2T
+ T x4
PP ¢ 50 PP ¢ 20
£ PN 71720 /N KE FaK B E (BT B
0.9 0.3
feg1-1 | W11 | ege-3 | fike-3
A R G As, t=15cmLL T 1.6 6.0 76| m 8
SEEMBUEURGAT | As, t=10emBL F 0.5 0.5 1.8 1.8 46| m® 5
BRI T Bk g+ 0.4 0.4 0.5 0.5 1.8 m? 2
IR T RC-40 0.4 0.4 0.3 0.2 1.3 m? 1
FAEERE | E L 0.4 0.4 0.5 0.5 1.8 m® 2
LSl 0.4 0.4 0.5 0.5 1.8 m® 2
T A7 7V NLALE 0.02 0.01 0.07 0.05 0.15 | m* 0.2
e AR | As 0.02 0.01 0.07 0.05 0.15 | m® 0.2
15U - Ly T 0.001 0.006 0.007 | m® 0.01
WA T RC-40, t=15cm 0.5 1.8 2.3 | m® 2
AT RC-40, t=16cm 0.5 1.8 2.3 | m® 2
HH

*KE Rk FEAS(13) t=3cm 0.5 0.5 1.8 1.8 4.6 | m® 5

34




TKGE N ((RER) £ TR R

T+ T ¥ & &
+TAA7 | AER1-1 THEHE As PP ¢ 50 DP=0.90m
+ TR = 0.8 = 0.8 m
1R
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
T
| pemET
| RC-40 2
! A
i 'Y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= =| ° WHIES ERM o~ DP_| 8 | 0.900
| RC-40 < H | #iE] 0.960
i Hl | #EAl&] 0.920
! h2  [$EEH| 0.780
! h W @&
|
i
=
( 0.8 m H7h¥E)
4 R G2 N B =Y B =
EAERR B As, t=15cmbL T 2 0.8 m 1.6
SEERNBUELDA T[  As, t=10cmbh F 0.60 0.8 m? 0.5
BRI T bk mYE L 0.60 0.920 X 0.8 m® 0.4
A AR B T RC-40 ( 0.60 0.780 — 0.060 2 X x,/4)X 0.8 m? 0.4
TR
FA TR WE+ 0.40 m® 0.4
T AT 7 )L NLALER 0.60 0.04 X 0.8 m® 0.02
MR AR e As m’ 0.02
TG VEEE - /L4y T 0.023 0.04 X 1.6 m®|  0.001
BT RC-40, t=15c¢m 0.60 0.8 m® 0.5
A RIFEAs(13)
*g t=3cm 0.60 0.8 m® 0.5
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TKGE N ((RER) £ TR R

T+ T ¥ & &
+TH47° | FEI-1 TIEEE As PP ¢ 50 DP=0.90m
+ TR = 0.8 = 0.8 m
1R
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.060
= £ ° WHIES ERM o~ DP_| 8 | 0.900
| RC-40 < H | #iE] 0.960
i H2 | A& ]  0.930
| h2 | HER| 0.770
! h W @&
|
! _
=
( 0.8 m H7h¥E)
4 PR G2 N 7 " =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 0.8 m> 0.5
BRI T Mg WE 1 ( 0.60 X 0.930 — 0.060 2 X x,/4)X 0.8 m? 0.4
IR T RC-40 0.60 X 0.770 X 0.8 m® 0.4
TR
FA TR WE+ 0.40 m® 0.4
T AT 7 )L ML 0.60 X 0.03 X 0.8 m® 0.01
MR AR e As m’ 0.01
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 0.8 m> 0.5
A RIFEAs(13)
*g t=3cm 0.60 X 0.8 m® 0.5
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TKGE N ((RER) £ TR R

T+ T ¥ & &
+TAA7° | ER2-3 THEHE As PP ¢ 20 DP=0.30m
S4 ST
+ TR = 05 +25 = 3.0 m
1R 2IR
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= "\ , % S
T
| pemET !
| RC-40 5
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.327
i Hl | #Al&] 0.287
| h2 | M| 0.147
! h W @&
|
i
=
( 3.0 m Y/-0EE)
4 R G2 N B =Y B =
EAERR B As, t=15cmbL T 2 X 3.0 m 6.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 3.0 m> 1.8
BRI T Mg WE 1 0.60 X 0.287 X 3.0 m 0.5
IR T RC-40 0.60 X 0.147 — 0.027 2 X gx,/4)X 3.0 m® 0.3
TR
FA TR WE+ 0.50 m® 0.5
T AT 7 )L ML 0.60 X 0.04 X 3.0 m® 0.07
MR AR e As m’ 0.07
TG VEEE - /L4y T 0.023 X 0.04 X 6.0 m®|  0.006
AR T RC-40, t=15cm 0.60 X 3.0 m> 1.8
A RIFEAs(13)
*g t=3cm 0.60 X 3.0 m® 1.8
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TKGE N ((RER) £ TR R

T+ T ¥ & &
+TH47° | frE2-3 TIEEE As PP ¢ 20 DP=0.30m
S4” ST
+ TR = 3.0 = 3.0 m
1R 2IR
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 E
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= £ ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.327
i H2 | #AIE] 0.297
! h2  [$EFEH| 0.137
! h W @&
|
! _
=
( 3.0 m HhHE)
4 R G2 N 7 " =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 3.0 m> 1.8
BRI T Mg WE 1 ( 0.60 X 0.297 — 0.027 2 X x,/4)X 3.0 m? 0.5
IR T RC-40 0.60 X 0.137 X 3.0 m® 0.2
TR
FA TR WE+ 0.50 m® 0.5
T AT 7 )V NSE 0.60 X 0.03 X 3.0 m® 0.05
MR AR e As m’ 0.05
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 3.0 m> 1.8
A RIFEAs(13)
*g t=3cm 0.60 X 3.0 m® 1.8
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2T R(KRER-RER) LE/XKEHM PPP40 &E#f 5575

N T
b T ik ¥ BB U R R W
[&#]
17 123
RYFL A ¢ 40 37.0 + 29.0 + 0.5 66.5 | m
1R S7 ik ST’
¢ 20 20 X 1+ 25 X 1 4.5 m
R
PPY /b $ 40 2 + 1 3 J[E
R
PVYZ b ¢ 20 1 + 1 2 &
R
PP LR ¢ 40 1+ 2 3 1
PP H PPazAY Y gk s MM vy Bt e
HRIL4y kA ¢ 40X ¢ 20 1 + 1 2 1
TR EL ¢ 40 620
BERRT—7 150mm 37.0 + 2.0 39.0  m
537K TR
~— A . 2 | #
PRIRfE ¢ 40 29.0 29.0 | m
[55%]
RYzF L AT ¢ 40 66.5 66.5 m
¢ 20 4.5 4.5 m
Viryk TR
PPk T T ¢ 40 6 + 6 12 i
7 Sykke
¢ 20 4+ 2 6 ]
PP
FRAS KR REAR T 640X ¢ 20 2 2 u]
BURY—RL 39.0 m
RV FLUEET ¢ 40 66.5 66.5 m
¢ 20 4.5 4.5 m
R F L AE G T ¢ 40 29.0/6 - 1 4 u]
¢ 40 20
BT 295 X 0.788 + 2.5 X 0.269 it 239 | kg
Yok TR
FEARI Ty T ¢ 40 1 X 1.880 + 2 X 2.155 6.2 kg
Yok
¢ 20 1 X 0.545 0.5 kg
3 6.7 kg
AT TT 4k 640X ¢ 20
1 X 1.80 7 1.8 kg

39




FOKE B (ORFR -G L T EFRE 20K
i iI&%f
N ek
. g PP ¢ 40 | PP 20 PP ¢ 40 PP ¢ 20 AU N -
Zl ﬁf i3 ’lj( ﬂ‘ /£ ZIS'EE'? %’E?7k ZIK%T’ %/13\7k (=) u+§&% ﬁ{l D&
0.9 0.65 0.3 0.3
1-2 1-5 fax1-2 | #=1-2 | age-3 | #ike-3
& 22 i s, t=15cm . . . . . m
EEE G T As, t=15cmL F 74.0 4.0 1.0 5.0 84.0 84
SEERUELRGAT | As, t=10emPLF 22.2 1.2 0.3 0.3 1.5 1.5 27.0 | m® 27
B REEI T Bk g+ 16.8 0.9 0.2 0.2 0.4 0.4 18.9 | m® 20
IR T RC-40 3.6 0.2 0.2 0.2 0.2 0.2 46| m® 5
BT ooy RS 9.9 0.5 104 | m® 10
A TERE [ WE+ 16.8 0.9 0.2 0.2 0.4 0.4 18.9 | m® 20
B 16.8 0.9 0.2 0.2 0.4 0.4 18.9 | m® 20
T A7 7V NI 0.89 0.05 0.01 0.01 0.06 0.05 1.07 | m® 1
BRI AR | As 0.89 0.05 0.01 0.01 0.06 0.05 1.07 | m® 1
15 VRS - 555 T 0.070 0.004 0.001 0.005 0.080 | m? 0.08
AT RC-40, t=15cm 22.9 1.2 0.3 1.5 25.2 | m® 25
BT RC-40, t=16cm 22.9 1.2 0.3 1.5 25.2 | m® 25
HH
EIE] BRI FEAs(13) t=3cm 22.2 1.2 0.3 0.3 1.5 1.5 27.0 | m? 27
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b OKGE O (ORER) = TR

T+ T ¥ & &
+TAa47° 1-2 THEHE As PP ¢ 40 DP=0.65m
+ TR L= 37.0 = 37.0 m
2T
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= N , % S
T
i Eﬁﬁl A
| RC-40 E
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.048
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#miizE] 0.798
i H2 | A& ]  0.758
1B hl [$E5#| 0.160
iz—F v h | # & 0448
! ou
i S
~N B —4
l | =
—
! 8
! v v
¢D
( 37.0 m Y7hEE)
4 PR G2 N 7 " =Y B =
SHAERR G As, t=15emPA F 2 X 37.0 m 74.0
ERERBUELRSAT]  As, t=10cmBL T 0.60 X 37.0 m? 22.2
B mE T etk W+ 0.60 X 0.758 X 37.0 m® 16.8
IR T RC-40 0.60 X 0.160 X 37.0 m® 3.6
A s B T oooan D ( 0.60 X 0.448 — 0.048 2 X g,/4 )X 37.0 m® 9.9
R
FEA TR W+ 16.80 m® 16.8
T AT 7 )L N ALER 0.60 X 0.04 X 37.0 m® 0.89
S S N As m® 0.89
T VEEE - /L4y T 0.023 X 0.04 X 74.0 m®| 0.070
BT RC-40, t=16cm 0.60 X 37.0 m® 22.2
A RIEAs(13)
)= t=3cm 0.60 X 37.0 m® 22.2
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T+ T ¥ & &
+TAa47° 1-5 THEHE As PP ¢ 20 DP=0.65m
S7
+ TR L= 2.0 = 2.0 m
2T R
< L >
BEE%As t=4cm EEl | BR RIEIH BEZHiAs t=3cm
= N , % S
T
i Eﬁﬁl A
| RC-40 S
!
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= £ e HARIEE BREM — DP | +#0 [ 0.650
g RC-40 < H1 [#miEgE] 0.777
i H2 | #Al&] 0.737
1B hl [$E5#| 0.160
iz—F v h | # & 0427
[ ok
i S
~N B| —
l | =
—
o
i Sy 4
!
¢D
( 2.0 m H7hHE)
4 PR G2 N 7 " =Y B =
EAERR B As, t=15cmbL T 2 X 2.0 m 4.0
EREERBUELRGA T As, t=10ecmPL T 0.60 X 2.0 m2 1.2
BRI T Mg WE 1 0.60 X 0.737 X 2.0 m 0.9
IR T RC-40 0.60 X 0.160 X 2.0 m® 0.2
AR T oar i (060 X 0427 — 0.027 2 X 7,/4)X 2.0 m? 0.5
i)
38 EmR wWE+ 0.90 m® 0.9
T AT 7 )L N ALER 0.60 X 0.04 X 2.0 m® 0.05
S S N As m® 0.05
T VEEE - /L4y T 0.023 X 0.04 X 4.0 m®|  0.004
BAE T RC-40, t=16cm 0.60 X 2.0 m® 1.2
A RIEAs(13)
*g t=3cm 0.60 X 2.0 m® 1.2
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b OKGE O (ORE% - E%) + TR R

T+ T ¥ & &
T a7 | ER1-2 THEHE As PP ¢ 40 DP=0.65m
+ TR = 0.5 = 0.5 m
2T
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
| pemET !
| RC-40 2
! A4
i A
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.048
= =| ° WHIES ERM o~ DP_| v | 0.650
| RC-40 < H | #iE] 0.698
i Hl | #HIE]  0.658
| h2 | M| 0.518
! h W @&
|
i
=
( 0.5 m Y/-vEKE)
4 R G2 N B =Y B =
EAERR B As, t=15cmbL T 2 X 0.5 m 1.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 0.5 m> 0.3
BRI T Mg WE 1 0.60 X 0.658 X 0.5 m 0.2
A AR B T RC-40 ( 0.60 X 0.518 — 0.048 2 X 7,/4)X 0.5 m® 0.2
TR
FA TR WE+ 0.20 m® 0.2
T AT 7 )L ML 0.60 X 0.04 X 0.5 m® 0.01
MR AR e As m’ 0.01
TG VEEE - /L4y T 0.023 X 0.04 X 1.0 m®|  0.001
AR T RC-40, t=15cm 0.60 X 0.5 m> 0.3
A RIFEAs(13)
*g t=3cm 060 X 0.5 m® 0.3
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KB B (OARER - (E%) = T o

S

T+ T ¥ & &
+TH47° | fE1-2 TIEEE As PP ¢ 40 DP=0.65m
+ TR = 0.5 = 0.5 m
2T R
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
]
| pmET 1
| RC-40 S
!
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.048
= £ ° WHIES ERM o~ DP_| v | 0.650
| RC-40 < H | #iE] 0.698
i H2 | #AIE]  0.668
! h2 |54 0.508
! h W @&
|
=
( 0.5 m M7=vHE)
4 PR G2 N B =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 0.5 m> 0.3
BRI T Mg WE 1 ( 060 X 0.668 — 0.048 2 X g5,/4)X 0.5 m? 0.2
IR T RC-40 0.60 X 0.508 X 0.5 m® 0.2
TR
FEA TR R W+ 0.20 m® 0.20
T AT 7 )L ML 0.60 X 0.03 X 0.5 m® 0.01
MR AR e As m’ 0.01
15 VRER - L T
AR T RC-40, t=16cm 0.60 X 0.5 m> 0.3
A RIFEAs(13)
*g t=3cm 060 X 0.5 m® 0.3
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b OKGE O (ORE% - E%) + TR R

T+ T ¥ & &
+TAA7° | ER2-3 THEHE As PP ¢ 20 DP=0.30m
ST
+ TR = 2.5 = 2.5 m
2T
< L >
BEE%As t=4cm EEl | BR R1EI18 BAEZEHAs t=3cm
= "\ , % S
T
| pemET !
| RC-40 5
!
i
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= =| ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.327
i Hl | #Al&] 0.287
| h2 | M| 0.147
! h W @&
|
i
=
( 2.5 m Y-0EE)
4 R G2 N B =Y B =
EAERR B As, t=15cmbL T 2 X 25 m 5.0
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 25 m> 1.5
BRI T Mg WE 1 0.60 X 0.287 X 2.5 m 0.4
IR T RC-40 0.60 X 0.147 — 0.027 2 X x,/4)X 25 m® 0.2
TR
FA TR WE+ 0.40 m® 0.4
T AT 7 )L ML 0.60 X 0.04 X 25 m® 0.06
MR AR e As m’ 0.06
TG VEEE - /L4y T 0.023 X 0.04 X 5.0 m®|  0.005
AR T RC-40, t=15cm 0.60 X 25 m> 15
A RIFEAs(13)
*g t=3cm 060 X 25 m® 1.5
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b OKGE O (ORE% - E%) + TR R

T+ T ¥ & &
+TH47° | frE2-3 TIEEE As PP ¢ 20 DP=0.30m
T TR = = 2.5 m
< L >
BEE%As t=3cm EEl | BR RIEIH BEZHiAs t=3cm
S I , / S
!
| pmET 1
| RC-40 S
i
i y
| W_[maliE]_0.600
a [ D1 [#&4M%| 0.027
= £ ° WHIES ERM o~ DP_| 8 | 0.300
| RC-40 < H | #igE] 0.327
i H2 | #AIE] 0.297
! h2  [$EFEH| 0.137
! h W @&
|
i
=
( 2.5 m M7hHE)
4 R G2 N B =Y B =
EEERR B As, t=15cmPA T
SHEERRBUELFGA T  As, t=10ecmPL T 0.60 X 25 m> 1.5
BRI T Mg WE 1 (0,60 X 0.297 — 0.027 2 X g,/4)X 25 m? 0.4
IR T RC-40 0.60 X 0.137 X 2.5 m® 0.2
TR
6L A EIR P+ 0.40 m® 0.4
T AT 7 )V NSE 0.60 X 0.03 X 25 m® 0.05
s PN m® 0.05
TGIRIEM - T
AR T RC-40, t=16cm 0.60 X 25 m? 15
A RIFEAs(13)
# )= t=3cm 060 X 25 m® 1.5
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